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MCS-035: ACCOUNTING FINANCIAL MANAGEMENT
TIME: 3 Hours  





       Maximum Marks: 100


Note : Question number 1 is compulsory and carries 40 marks. Attempt any three  

      Questions from the rest, which carry 20 marks each.


1. (a) The following data are being taken from the records of Tata  

Corporation as on 31st March 2008:

	
	Rs.

	Cash
	30,000

	Debtors
	15,000

	Stock
	10,000

	Pre paid expenses
	5,000

	Creditors
	15,000

	Bills Payable
	3,000

	Sales
	50,000

	Purchase
	36,000

	Purchase Return
	6,000


On the basis of the above information’s compute the following: 

(i) Working Capital Ratio;

(ii) Acid Test Ratio;

(iii) Stock and Cost of Sales Ratio; 

(iv) Payable Turnover Ratio;

(v) Average time of Payable

Solution: (i)  Working Capital Ratio; (WCR)
WCR = CA/CL

    CA: (Current Assets)

	
	Rs.

	Cash
	30,000

	Debtors
	15,000

	Stock
	10,000

	Pre paid expenses
	5,000

	Total
	60,000


CL: (Current Liabilities)

	
	Rs.

	Creditors
	15,000

	Bills Payable
	3,000

	Total
	18,000
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(iii) Stock and cost of sales Ratio (SCR) : 

  SCR =        Stock      .

    Costs of Sales    
Cost of sales
= Opening stock + Purchases – Purchases Return – Closing stock

  

= 0 + 36,000 – 6,000 – 10,000



= 20,000

             SCR 
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= 0.50 = 510 %

(iv)  payable turnover ratio (PTR)

PTR  
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 (v) Average time of Payables (ATP):

ATP 
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(b) From the following particulars of XYZ & Co., you are required to determine 
      The working capital required by the company for the next year.      (10)

	
	Rs.

	Annual Sales
	14,40,000

	Cost of Production (including depreciation of Rs. 1,20,000)
	12,00,000

	Raw Material Purchase
	7,05,000

	Monthly Expenditure
	   25,000

	Estimated Opening Stock of Raw Material
	1,40,000

	Estimated closing stock of raw material
	1,25,000

	Inventory norms
	

	Raw Materials
	2 Months

	Work-in-Progress
	½ Months

	Finished Goods 
	1 months


The Firm enjoys a credit of half a month on its purchase and allows one month credit on its supplies. On sales orders the company receives an advance of Rs. 15,000.

You may assume that production is carried out evenly throughout the year and minimum cash balance desired to be maintained is Rs. 10,000.

Solution: (b) Statement of Calculation of Working Capital Requirement.

	Particulars
	Working notes
	Rs.

	Current Assets
	
	

	Debtors
	1440000/12
	1,20,000

	Raw Material Stock
	Raw material consumption/12months x 2 months

Raw material consumption = OP + Pur – CL

= 140000 + 705000 – 125000

= 720000. 
	1,20,000

	WIP stock
	Costs of production/12 x 1 month

COP = 1200000
	  50,000

	Finished Stock
	Cost of sales x 12 x 1 month

In this question, COS cannot be worked out. So, COP = COS
	1,00,000

	Cash
	Gives
	   10,000

	Total C.A.(A)
	
	4,00,000

	
	
	

	Current Liabilities 
	
	

	Creditors

Advances from customers
	Raw Material Purchases/ 12x0.50 

Gives
	29,375

15,000

	Total C.L. (B) 
	
	44,375

	Working Capital (A – B)
	
	3,55,625


2. Write short notes on the following





(20)
Accrual concept







Solution:    The effects of transactions and other events are recognised when they occur (and not as cash or its equivalent is received or paid) and they are recorded in the accounting records and reported in the financial statements of the periods to which they relate.

Example: Company A has received cash of $40,000 from his customers. However, the company actually has done all work satisfactorily and the customers have acknowledged the work done which the company can billed for another $20,000. Furthermore, the expense for the $20,000 work-done has been taken up into the books of account.

Question:    Should the company just close their accounting book by presently its income as $40,000 for the cash received or should it be $40,000+$20,000 =$60,000

Answer:     Based on this concept, the company has actually completed all work done, also, the work done have being acknowledged by the customers, hence income of $60,000 should be taken up and not just the cash received.
==================

Materially concept

Solution: Omissions or misstatements of items are material if they could, individually or collectively, influence the economic  decisions of users taken on the basis of the financial statements. Materiality depends on the size and nature of the omission or misstatement judged in the surrounding circumstances. The size or nature of the item, or a combination of both, could be the determining factor

Example: Company A bought 6 months supplies of stationery costing $600.

Question: Should the company spread the cost of this stationery for 6 months by expensing off $100 per month to the Income Statement ?

Answer : Based on this concept, as the amount is so small or immaterial, it can be expensed off in the current month instead of tediously expensing them for the next 6 months
=====================

Conservatism concept

Solution: Conservatism concept are recognize revenue only when they are reasonably certain or recognize expenses as soon as they are reasonably possible. This concept basically does not encourage the anticipation of recognizing income when it is not certain. It prefers that any expenses that can be reasonably ascertain should be taken up.

Example:Company A has completed 50% of a project. Based on its costing and other evidence, it knows that the project is going to incur losses.Question: Should the company only take up its losses at the completion of the project.

Answer: Based on prudence concept, the company should quickly in its financial year take up this losses instead of waiting for the 100% completion of the project.
=============================
Consistency concept

Solution: Once a business has adopted on one accounting method, it should use the same method for all subsequent events of the same character unless it has sound reason to change This concept advocates that there must be consistent treatment for similar items within each accounting period and from one period to the next.

Example: Company A has received annual rebates from its supplier approximately to $1 million. Every year, it is the company’s accounting policy to net these rebates against the purchases from the suppliers. But for this year, this is taken up as income.Question: Is this correct ?Answer: Under the consistency concept, this is not correct as every year the Company A has been taking these rebates against the purchases but all of a sudden, it changes its accounting policy by taking up as revenue.

3. What is meant by ‘ Fund Flow Statement’ ? enumerate the uses of fund flow

     statement.








(20)

Ans. Meaning of “Flow of fund”

         The term “Flow” means change and, therefore, the term “Flow of Fund” means “Change of Fund” or “Change in Working Capital” In other words, any income or decrease in working capital means “Flow of Fund”.

In business, several transactions take place, some of these transactions increase the funds while others decrease the funds. Some may not make any change in the fund position. In case a transaction results in increase of fund, it will be termed as a “source of fund”. For example, if the fund are Rs 10,000 and on account of a business transaction, say, issue of shares, they become Rs 15,000 ,  ‘Issue of shares’ will be taken as a source of fund. In case a transaction results in decrease of fund it will be taken as an application or use of funds. For example, if the fund are Rs. 10,000 and on account of a transaction say, purchase of furniture of Rs. 5,000, they stand reduced to 5,000 the purchase of furniture will be taken as an “application of fund” . In case a transaction does not make any change in the fund position that exited just before the happening of the transaction, it is said that it is a non-fund transaction. For example, if the fund are Rs 10,000 and a fixed asset of Rs 5,000 is purchased by issuing shares of Rs 5,000 the fund position will not change, and therefore, this transaction will be taken as a non-fund transaction.

Uses of Fund Flow Statement

Fund flow statement helps the financial analyst in having a more detailed analysis and understanding of changes in the distribution of resources between two balance sheet dates. In case such a study it required regarding the future working capital position of the company, a projected funds flow statement can be prepared. The uses of a funds flow statement can be put as follows.

1. In explains the financial consequences of business operations. Fund flow statement provides a ready answer to so many conflicting situation. Such as:

(a) Why the liquid positions of the business is becoming more and more unbalanced in spite of business is becoming more and more profits?

(b)  How was it possible to distribute dividends in excess of current              

       earnings or in the presence of a net loss for the period?

(c) How the business could have good liquid position in spite of  

business making losses or acquisition of fixed assets?

(d) Where have the profits gone ?

Definite answer to these questions will help the financial analyst in edvising his employer/client regarding directing of fund to those channels which will be most profitable for the business. 

2. It answers intricate queires. The financial analyst can find out answer to a   

      number of intricate questions.

(a) What is the overall creditworthiness of the enterprise ?

(b) What are the sources of repayments of the loans taken ?

(c) How much funds are generated through normal business operations ?

(d) In what way the management has utilized the funds in the past and what are going to be likely uses of funds ?

3. It acts as an instrument for allocation of resources. A projected fund flow statement will help analyst in finding out how the management is going to allocate the scarce resources for meeting the productive requirements of the business. The use of fund should be phased in such an order that the available resources are put to the best use of the enterprise. The funds should be managed in such a way that the business is in a position to make payment of interest and loan installments as per the agreed schedule.

4. It is a test as to effective or otherwise use of working capital. Fund flow statement is a test of effective use of working capital by the management during a particular period. The adequacy or inadequacy of working capital will tell the financial analyst about the possible steps that the management should take for effective use of surplus working capital or make arrangements in case of working capital. 

Q4. Explain the following (Any two)
(a) Payback Period Method 
Solution: Method of evaluating investment opportunities and product development projects on the basis of the time taken to recoup the investment. This period is compared to the required payback period to determine the acceptability of the investment proposal. In contrast to return on investment and net present value methods, the cash inflows occurring after the payback period are not included in this method. Formula: Payback period (in years) = Initial capital investment ÷ Annual cash-flow from the investment.
The length of time required to recover the cost of an investment.

Calculated as: Payback Period

Investopedia Says

Investopedia explains Payback Period

All other things being equal, the better investment is the one with the shorter payback period.

For example, if a project costs $100,000 and is expected to return $20,000 annually, the payback period will be $100,000 / $20,000, or five years.

There are two main problems with the payback period method:

1. It ignores any benefits that occur after the payback period and, therefore, does not measure profitability.

2. It ignores the time value of money.

Because of these reasons, other methods of capital budgeting like net present value, internal rate of return or discounted cash flow are generally preferred.
=======================

(b) Net Present Value Method

A. Net Present Value :

The net present value of a project is equal to the sum of the present value of all the cash flows associated with the project. Symbolically  

NPV 
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Where NPV = net present value 

CF1 = case flow occurring at the end of year t (t = 0,1,……….,n)

N = life of the project 

K = discount rate 

The discount rate (k) employed for evaluating the present value of the expected future cash flows should reflect the risk of the project. It may be noted that the discount rate should include and appropriate premium for risk.

The illustrate the calculation of net present value, consider a project which has the following cash flow stream : 

	        Year 
	   Cash Flow

	           0

           1

           2

           3

           4

           5
	Rs.(10,00,000)

      2,00,000

      2,00,000

      3,00,000

      3,00,000

      3,50,000


The cost of capital, k, for the form is 10 percent. The net percent value of the proposal is :  

NPV 
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The net present value represents the net benefit over and above the compensation for time and risk. Hence the decision rule associated with the net present value criterion is : Accept the project if the net present value is positive and reject the project if the net present value is negative. ( If the net present value is zero, it is a matter of indifference.)

Relationship Between NPV and k 

From equation it is evident that the net present value of a conventional project decreases if the discount rate increases, the discounting factors become smaller, making the present value of case flows smaller. The relationship between the net present value profile. Figure shows the net present value profile for our illustrative project.









                                     

                                    



Evaluation : 

The net present value criterion has considerable merits.

1. It takes info account the time value of money.

2. It conceders the cash flow stream in its entirety.

3. It squares neatly with the financial objective of maximization of the wealth of stakeholders. The net present value represents the contribution to the wealth of stakeholders.     

4. The net present value of various projects, measured as they are in today’s rupees. Can be added. For example, the net present value of a package consisting of two projects individually :

NPV (A + B) = NPV(A) + NPV(B)

The additivity property of net present value ensures that a poor project (one which has a negative net present value).

The above-mentioned advantages make the net present value a formidable investment appraisal criterion. Indeed. Conceptually the net present value is virtually unassailable. However, from a pragmatic point of view. The present value  suffers from a limitation. As it is expressed as an absolute number, it is not reasdily intelligible to decision makers who are wanted to think in relative terms (like rate of return of profitability index).

(C)
Internal Rate of Return Method.

Solution: Internal Rate of Return:


The internal rate of return of project is the discount rate which makes its net present value equal to zero. It is the discount rate in equation :
NPV 
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Where CFt = cash flow at the end of year t

r = discount rate 

n = life of the project

In the net present value calculation we assume that the discount rate (cost of capital) is known and determine net present value of project. In the internal rate of return calculation, we set the net present value equal to zero and determine the discount rate (internal rate of return) which satisfies this condition.

To illustrate the calculation of internal rate of return, consider the cash flows of a project :

	Cash flow
	0
	1
	2
	3
	4

	
	(1,00,000)
	30,000
	30,000
	40,000
	45,000


The internal rate of return is the value of r which satisfies the following equation :

1,00,000 
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The calculation of r involves a process of trial and error. We try different values of r till we find that the right-hand side of the above equation is equal to 1,00,000. Let us. To begin with, true r = 15 percent. This makes the right-hand side equal to :
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This value is slightly higher than our target value, 1,00,000. So, we increase the value of from 15 percent to 16 percent. (In general, a higher r lowers and lower r increases the right-hand side value). The right-hand side becomes:
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Since this value is now less than 1,00,000. we conclude that the value of r lies between 15 percent and 16 percent. For most of the purpose this approximation suffices.

Evaluation:
A popular discounte cash flow method, the internal rate of return criterion has several virtues :

1.
It takes into account the time value of money.

2.
It considers the cash flow in its entirety.

3.
It makes sense to businessmen who are wanted to think in terms of rate of return and find an absolute quantity, like net present value , somewhat difficult to work with.

The internal rate of criterion, however has its own limitations :
1.
The internal of return may not be uniquely defined. If the cash flow stream of project has more than one change in sigh, there is a possibility that there are multiple rates of return.

2.
The internal rate of return figure cannot distinguish between lending and borrowing and hence a high internal rate of return need not necessarily be a desirable feature.



Consider project A and B
	
	Cash
	Flows

	
	0
	1

	A

B
	Rs. (400)

Rs.400
	600

(700)


The internal rate of return for A is 50 percent, whereas the internal rate of return   for B is 75 percent. Does this mean that B is more attractive than A ? Certainly not. A is a very attractive project, whereas b is a highly undesirable project. Why? A involves investing 400 at a rate of return of 50 percent. Whereas B involves borrowing 400 at a rate of 75 percent. Yet, if we go by the internal rate of return figures, B seems more attractive than A.

3.
The internal rate of return criterion can be misleading when choosing between mutually exclusive projects that have substantially different outlays. Consider projects P and Q.

	Cash Flows
	Internal Rate of Return (%)
	Net Present Value (assuming k=12 percent)

	0
	1
	0
	1

	P Rs. (10,000)+20,000

Q Rs.(50,000)+75,000
	100

50
	7,857

16,964



Both the projects are good, but Q, with its higher net present value, contributes more to the wealth of the stockholders. Yet from an internal rate of return point of view P looks than Q. hence the internal rate of return criterion seems unsuitable for ranking projects of different scales.

5.
What are the objectives of Cash Management? Discuss the functions of cash management. [20]

Solution. Objectives of Cash Managements are as follow: 

To make Payment According to Payment Schedule:

Firm needs cash to meet its routine expenses including wages, salary, taxes etc.

To prevent firm from being insolvent.The relation of firm with bank does not deteriorate. Contingencies can be met easily. It helps firm to maintain good relation’s with suppliers.

To minimize Cash Balance:-

The objective of cash management is to minimize cash balance. Excessive amount of cash balance helps in quicker payments, but excessive cash may remain unused & reduces profitability of business. Contrarily, when cash available with firm is less, firm is unable to pay its liabilities in time. Therefore optimum level of cash should be maintained.
Functions of Cash management

The efficient collection and repayment of cash to both insiders and to third parties.

Currency management

Manages the foreign currency risk, exchange rate risk,etc. Advise on currency to be used for overseas billing,etc


Funding management
Planning and sourcing firm’s short, medium and long-ter cash needs. Participates in capital structure, forecasting of future interest and foreign exchange rate’s decision making process

Banking

Maintain good relationships with bankers and carry out initial negotiation with them for any short term loan

Corporate finance

Advises and Involves in mergers and acquisition capital structure, rights issue,etc

Venture Capital Financing

Involves in new high risk ventures by getting venture capitalists 
6.
What do you mean by ‘Economy Order Quantity’? How it is determined?

Ans.
Economy Order Quantity’ (EOQ) is essentially an accounting formula that determines the point at which the combination of order costs and inventory carrying costs are the least. The result is the most cost effective quantity to order.  In purchasing this is known as the order quantity, in manufacturing it is known as the production lot size.

While EOQ may not apply to every inventory situation, most organizations will find it beneficial in at least some aspect of their operation.  Anytime you have repetitive purchasing or planning of an item, EOQ should be considered. Obvious applications for EOQ are purchase-to-stock distributors and make-to-stock manufacturers, however, make-to-order manufacturers should also consider EOQ when they have multiple orders or release dates for the same items and when planning components and sub-assemblies.  Repetitive buy maintenance, repair, and operating (MRO) inventory is also a good application for EOQ.  Though EOQ is generally recommended in operations where demand is relatively steady, items with demand variability such as seasonality can still use the model by going to shorter time periods for the EOQ calculation.  Just make sure your usage and carrying costs are based on the same time period.

Doesn’t EOQ conflict with Just-In-Time?  While I don’t want to get into a long discussion on the misconceptions of what Just-In-Time (JIT) is, I will address the most common misunderstanding in which JIT is assumed to mean all components should arrive in the exact run quantities “just in time” for the production run.  JIT is actually a quality initiative with the goal of eliminating wasted steps, wasted labor, and wasted cost. EOQ should be one of the tools used to achieve this. EOQ is used to determine which components fit into this JIT model and what level of JIT is economically advantageous for your operation.  As an example, let us assume you are a lawn equipment manufacturer and you produce 100 units per day of a specific model of lawn mower.  While it may be cost effective to have 100 engines arrive on your dock each day, it would certainly not be cost effective to have 500 screws (1 days supply) used to mount a plastic housing on the lawn mower shipped to you daily.  To determine the most cost effective quantities of screws or other components you will need to use the EOQ formula.

The determined of Economic Order Quantity (EOQ) formula is as follows:  

While the calculation itself is fairly simple the task of determining the correct data inputs to accurately represent your inventory and operation is a bit of a project.  Exaggerated order costs and carrying costs are common mistakes made in EOQ calculations.  Using all costs associated with your purchasing and receiving departments to calculate order cost or using all costs associated with storage and material handling to calculate carrying cost will give you highly inflated costs resulting in inaccurate results from your EOQ calculation.  I also caution against using benchmarks or published industry standards in calculations.  I have frequently seen references to average purchase order costs of $100 to $150 in magazine articles and product brochures.  Often these references trace back to studies performed by advocacy agencies working for business that directly benefit from these exaggerated (my opinion) costs used in ROI calculations for their products or services.  I am not denying that some operations may have purchase costs in this range, especially if you are frequently re-sourcing, re-quoting, and/or buying from overseas vendors. However if your operation is primarily involved with repetitive buying from domestic vendors — which is more common — you’ll likely see your purchase order costs in the substantially lower $10 to $30 range. 

As you prepare to undertake this project keep in mind that even though accuracy is crucial, small variances in the data inputs generally have very little effect on the outputs.  The following breaks down the data inputs in more detail and gives insight into the aspects of each.
                                                     THE END
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